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BC: Q201 ~ EXAMINATION REVIEW (Lessons 1 — 3)

TECHNOLOGY SECTION: Round answers to three decimal places.

1. The velocity of a particle moving along a horizontal is given as v(¢) = 8cos(t) + 1n(sin(t)+ t2)
on<t+<8- 0.1t £ g

A. On what time interval is the particle moving to the right? Justify.
Vit)=0 o4 =171 ad t=Y3y3

meS Maht e A o(xf, 1.7%) 0(4,373/ e] {/c V£) Do on %,’5 /.n#rm/
B. What are the velocity ané acceleration at time ¢ =5? Round answers to three decimal places.
N(5)= S.4y9 ' |
a(s) = §.099

C. Is the particle speeding up or slowing down at # = 3.5 ? Justify.
V(3s) =-505 7hc/§ar—},z}e s Slowin c/oow\ ol t=725
C

al(32s5) = 3.30b blc +he Ve/oa/y and actefeia fer Aave
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2. The derivative of fis given by f/(x)=e¢* —5x° +x on 0<7 <3
A. On what interval is f decreasing? Justify. 'Pl/X): o at A= 0.824 and X=/.836
F (5 L](c/mS/rﬂ onN B,szy};,ygz,]é/qa//x) 0 on (o,ez,q) /',39

B. At what x-value(s) does fhave a relative maximum? Justify.Et\T\,_,}_—vq:zy f'(x)=0 at x=0.824
-I\' has o relative max ot Y= o0.92¢4 blc

'F’(X) gocs Ko posihre 1 neﬁahw al Y-o,€2Y
C. On what interval is f concave upward? Justify.
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. do ne'™ /\
1. Let fbe.defined by f(x)=In(2+sinx) for 7 <x <2x. f
Find the absolute maximum value and the absolute minimum value of fusing the clo d 1nterval
test.
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2. A. When is the graph of f(x) concave upward if f”(x) = (x —1)x +2)%e* . Justify.
B. How many points of inflection are on f? Justify.
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m 3. A particle moves along a horizontal line. It’s position at time t is given as
- 2, 5,
N=—t" ——1t"-3¢ .
SO =gr oo o S
On what time interval is the particle slowing down? Justify.
2
N(g) = A+ -5¢-3 =0 (Zt+))+-3) =0  t=-f t=3
ak) = Yt—-S=0o = 1}%
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4. Consider the graph of the derivative of fbelow.

The graph of £ (x)
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A. For what x — values does fhave a local minimum? Justify. y . } g
7ﬁ /145 a ’a(al Mmin 4"— ’y =§ 6/( 'FI/X) y/zs 'p?fm Mﬁl. Wt -‘v pon e q X=&
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B. On what interval is fincreasing? Justify. ish P

4
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C. On what interval is f'concave upward? Justify.
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D. How many points of inflection afe on /?
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(3 Aex)= 2x (8 cosfozm) Do ocx<¢ szt
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GRAPH THEORY

11. Below is Steven’s graph of y = f(x).
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THE CHART REPRESENTS STEVEN’S GRAPH

)x

FILL IN EACH BLANK IN THE CHART ABOVE WITH ONE OF THE FOLLOWING:

+ for positive

— for negative

0 forzero
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for Does not Exist
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